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A (s} GInt]
(A gx) ot 1,680,000
1,680,000 * 13 =
3.7]Ete] M4 16,631 8,751 7,880
1.8} 3] Al Tko] A =) 16,631 8,751 7,880
1.2 usAAdE 16,631 8,751 7,880
S (Ag)ojedgduegu (g ) :
1.0h&8tu s AN Y= 16,631 8,751 7,880 7,880,000
HesasAdNT 7,880,000 1 31=
2. AA G 14,237 14,237 0
3,716 2,912 6,000 -3,088
1. AdTZo Y7 2,912 6,000 -3,088
1.5 A= 2,912 6,000 -3,088
1.AAdAF 2,912 6,000 -3,088
2~ o) o A ; - o_]_
LAY AT 2912 6,000 -3,088 E;M dete(2) ¢ ~(5,000,00091-1,912.890 5 07 0
o=
sAAGAF () ¢ -(1,000,0009-998, 740
)= -1,000
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